
PRELIMINARY

 3,6  3,1 

 24 

MOUNTING PARTS 
ARE HIDDEN

TOP VIEW
COVER, LATCH, PUSHER

AND DUMMY LOCATOR ARE HIDDEN

PIN 1
INDICATION LASER MARKING

23

24

 1
3,

8 

 1
1,

6 

LASER MARKING
XX-xx/xx-TxxxxxAxx-RevX

Supplier Code

Week Number
Year

Revision
Number

LASER MARKING

 24 

 1
,2

 

MOUNTING PARTS 
ARE HIDDEN

7 621 19 17 20

 30 
 14 

 7 

 3
0 

 3
1 

A

A

B

B

LASER MARKING
YAMAICHI LOGO

X

A-A

1

2

4

5

8

9

11

3

12

B-B

13 15 16 1425 2218

FORCE AT WORKING POSITION
(5,05 mm) = 10,3 Grams

 0,15 

X
18 : 110

NOTE  THE LOCATOR NEEDS TO BE ORDERED SEPARATELY
ITEM QTY. DRW. REF. REV. DESCRIPTION MATERIAL SURFACE ART. NO.

1 1 T3060P01 0 Insert-tp PEEK
2 1 T3060P02 0 Insert-bp PEEK
3 1 T3060P03 0 Dummy Locator PEI
4 1 T3060P05 0 Isolator PEEK
5 1 T3060P06 0 Floating base AlZn5Mg3Cu anodized / black
6 1 T2931P11 0 Lid Base AlZn5Mg3Cu anodized / black
7 1 T2931P17 0 Cover AlZn5Mg3Cu anodized / black
8 1 T2931P18 0 Pusher PEEK ELS NANO
9 1 T2471P07 0 Latch PEEK HT 810-0198

10 64 T(113)P105 0 SPRING PROBE CONTACT 81-06359
11 4  0 Slotted Cheese Head Screw - ISO 1207 - M1 x 3 Stainless Steel 610-0903
12 2  0 Countersunk Flat Head Screw - ISO7046 - M1.6 x 3 Stainless Steel 610-0168
13 4  0 Socket Head Cap Screw - ISO 4762 - M1.6 x 4 Stainless Steel 610-0440
14 4  0 Socket Head Cap Screw - ISO4762 - M2 x 10 Stainless Steel 610-0429
15 4  0 Hexagon Nut - ISO4032 - M2 Stainless Steel 610-0346
16 4  0 Plain Washer Normal - ISO7089 - 2 Stainless Steel 610-0347
17 1  0 Parallel Pin - ISO2338 - 1 x 5 Stainless Steel 610-0491
18 2  0 Parallel Pin - ISO2338 - 1.5 x 6 Stainless Steel 610-0510
19 1  0 Parallel Pin - ISO2338 - 1.5 x 14 Stainless Steel 610-0525
20 1  0 Parallel Pin - ISO2338 - 1.5 x 16 Stainless Steel 610-0641
21 1  0 Parallel Pin - ISO2338 - 1.5 x 20 Stainless Steel 610-0495
22 4  0 Spring DIN 2076-0,12x1,6x3,6 Stainless Steel 610-0031
23 1  0 Torsion spring - Gutekunst - T-16004R EN 10270-3-1.4310 610-1038
24 1  0 Torsion spring - Gutekunst - T-16000L EN 10270-3-1.4310 610-1037
25 4  0 Compression Spring - DIN2076-0,32x1,6x4,4 Stainless Steel 610-0438

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF YAMAICHI
ELECTRONICS DEUTSCHLAND GmbH. ANY REPRODUCTION IN PART OR WHOLE WITHOUT
THE WRITTEN PERMISSION OF YAMAICHI ELECTRONICS DEUTSCHLAND GmbH IS PROHIBITED. CONFIDENTIAL

0
3

YED274-064064-P-XX-TI

    

    
    
    
    

    
    
    
    
    

    
    
    
    
    

OF1

NOTES:

ANGLE PROJECTION:

    

ALL UNDIMENSIONED EDGES
HAVE A RADIUS OF:  0.2 mm

TOLERANCES: 0.1

28.02.2017
02.02.2017

        
ANE
ANE

T3060A01

Socket for BGA-p0,35-64pin

DESIGN

REV. DATEINITIALSREVISION DESCRIPTIONREV.

CLASSIFICATION:

A3 - ASSEMBLY

DRAWN

CHECKED

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

NAME DATE

WEIGHT:

DO NOT SCALE DRAWING

REVISION:

TITLE:

DWG NO.:

SCALE:  3:2 SHEET 
28/02/2017

    
    
    
    
    

Order / Article No. 81-07660

FIRST



PRELIMINARY

 30 

 R1,2 (4x) 

 24 

 2,2 (2x) 

 14,5 

 7,5 

 1
9,

8 
 1

9 

X

PIN 1

1,6 MIN.
3,6 MAX.

 5,6 (4x) 

 24 ±0,03 

 3,15 H7 

 3,65 H7 

 
24

 

 0,25 MIN. 

 0,35 ±0,03 

 7x0,35 = 2,45 ±0,03 

X
10 : 1

PIN 1

E

F

1 2 3 4

A

321 5

C

D

4 6 7 8

A

B

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF YAMAICHI
ELECTRONICS DEUTSCHLAND GmbH. ANY REPRODUCTION IN PART OR WHOLE WITHOUT
THE WRITTEN PERMISSION OF YAMAICHI ELECTRONICS DEUTSCHLAND GmbH IS PROHIBITED. CONFIDENTIAL

 PCB LAYOUT SOCKET SIDE 
   

MIN. 50 MICRO INCHES HARD GOLD OVER 125 MICRO INCHES NICKEL
THERE MUST BE NO VIA HOLES IN BOARD PADS
PCB DEFLECTION MAY OCCURE DEPENDING ON ITS THICKNESS

3

YED274-064064-P-XX-TI

    
    
    
    
        

    
    
    
    

    
    
    
    
    

    
    
    
    
    

OF2

NOTES:

    

28.02.2017
02.02.2017

        
ANE
ANE

T3060A01

Socket for BGA-p0,35-64pin

DESIGN

REV. DATEINITIALSREVISION DESCRIPTIONREV.

CLASSIFICATION:

A3 - ASSEMBLY

DRAWN

CHECKED

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

NAME DATE

WEIGHT:

DO NOT SCALE DRAWING

REVISION:

TITLE:

DWG NO.:

SCALE:  3:1 SHEET 
28/02/2017

FIRST

ANGLE PROJECTION:

0

 PCB LAYOUT BACK SIDE 
   

Restricted area 

Free area 

ALL UNDIMENSIONED EDGES
HAVE A RADIUS OF:  0.2 mm

TOLERANCES: 0.1
Maximal component height : 2,6 mm

Maximal component height : 4 mm



 2
,9

 

 3
1 

 4,7  3,6 

 94° 

 40 

 1
2 

PRELIMINARY

!  

Assembly and disassembly of 
the locator with the two screws

Place the IC device
 into the locator 

DEVICE

Socket closed

NOTES  THE LOCATOR NEEDS TO BE ORDERED SEPARATELY

           DO NOT CLOSE THE SOCKET WITHOUT LOCATOR ! CONTACT PINS MAY BE DAMAGED

Assembly and disassembly of 
the dummy locator with the two screws

CLOSE THE SOCKET ONLY AFTER MOUNTING THE DUMMY LOCATOR OR THE LOCATOR INSIDE

!  

E

F

1 2 3 4

A

321 5

C

D

4 6 7 8

A

B

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF YAMAICHI
ELECTRONICS DEUTSCHLAND GmbH. ANY REPRODUCTION IN PART OR WHOLE WITHOUT
THE WRITTEN PERMISSION OF YAMAICHI ELECTRONICS DEUTSCHLAND GmbH IS PROHIBITED. CONFIDENTIAL

 ASSEMBLY INSTRUCTIONS 
     

3

YED274-064064-P-XX-TI

    
    
    
    
        

    
    
    
    

    
    
    
    
    

    
    
    
    
    

OF3

NOTES:

    

28.02.2017
02.02.2017

        
ANE
ANE

T3060A01

Socket for BGA-p0,35-64pin

DESIGN

REV. DATEINITIALSREVISION DESCRIPTIONREV.

CLASSIFICATION:

A3 - ASSEMBLY

DRAWN

CHECKED

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

NAME DATE

WEIGHT:

DO NOT SCALE DRAWING

REVISION:

TITLE:

DWG NO.:

SCALE:  2:1 SHEET 
28/02/2017

FIRST

ANGLE PROJECTION:

0

ALL UNDIMENSIONED EDGES
HAVE A RADIUS OF:  0.2 mm

TOLERANCES: 0.1


	Sheet1
	Drawing View11
	Drawing View13
	Drawing View16
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Section View A-A
	Section View B-B
	Detail View X (18 : 1)

	Sheet2
	Drawing View18
	Drawing View19
	Drawing View20
	Detail View X (10 : 1)

	Sheet4
	Drawing View43
	Drawing View45
	Drawing View48
	Drawing View49
	Drawing View50


